i Simplfy: () (9%F () (3vw)

ii.  Find the value of 't": log,7 + log,8 - log,4 = log,t ’

3d°-2d +4

iv.  Evaluate the following when d=-3; .

V. Find the value of s* + £ if s#t=11, 8-t =],

vi.  Without performing ivision, find the remainder when 37 +4)-2 is divided by y - 3.
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viil. - Solve: 8./p+5=/p-9. m

ix. Solve aniplut on numbertine; @@W@G@

X.  Prove that ind C(9,5) are collinear.

xi. : enuf&timglcmwenttﬁmthcsiduuppnﬁmmm
angles are congruent. -

Xil, Provelthm:Anypointunttycﬂghthiucﬁufalineseglnmtisaqlﬁdimﬁnmuﬂpotm
of the segment.
' SCION'C Mk
'Nnte:AnupmyIHREEqmﬂ;uofthafolwhg.quﬁnumaquﬂMnm
L Pmﬁmﬂ:lfmbﬂppusitesiduufaqundﬁwmmnmmt,ﬂlmitisnpml]d@
IV Prove that: rom a point outside alne,the perpendiculr isthe shortes istance fom th peioe
to the line. |

V. Prove that: In a right-angled triangle, the square of the length of hypotenuse is equal to the sum
~ of the squares of the lengths of the other two sides.
VL Construct AKLM , for mKL = 4.8cm ,mIM = 3.9cm, and meL = 36




